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Patterns With Multiples
of 10, 100, and 1,000

Find 30 x 2,000.

3X2=3X2o0nes=6o0nes =26

3 X 20 =3 X 2tens =6 tens = 60

30 X 20 = 3 tens X 2 tens = 6 hundreds = 600

30 X 200 = 3 tens X 2 hundreds = 6 thousands = 6,000

30 X 2,000 = 3 tens X 2 thousands = 60 thousands = 60,000

Solution: 30 X 2,000 = 60,000

Use basic facts and patterns to find each product.

1. 5X 3 2. 2X2 3.4X3
5 % 30 2 X 20 4 X 30
50 X 30 20 X 20 40 X 30
50 X 300 20 X 200 40 % 300
50 X 3,000 20 X 2,000 40 X 3,000
4. 2X7 5.6 X4 6.4X8
2X 70 6 X 40 4 X 80
20 X 70 60 X 40 40 X 80
20 X 700 60 X 400 40 X 800
20 X 7,000 60 X 4,000 40 X 8,000
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Patterns With Multiples of 10,
100, and 1,000

Solve.

1. Lorelei printed programs for the Show your work.
concert. She ordered 4 boxes of
programs. If there were 300 programs
in each box, how many programs did
she order?

2. A box holds 20 packs of paper. Each
pack of paper contains 200 sheets of
paper. How many sheets of paper are
in a box?

3. In the auditorium, there are 40 seats in
each row. There are 60 rows of seats.
How many seats are in the auditorium?

4. Lenny works at the auditorium. He
earns $10 an hour. How much will he
earn if he works 40 hours a week for
40 weeks?

5. Reasoning Stadium A has 50 sections of seats with 800
seats in each section. Stadium B has 500 rows of seats with
70 seats in each row. Without multiplying, explain how you
can tell which stadium has more seats.
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